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  دقيقه 105 گويي: زمان پاسخ  70 تعداد كل سؤالات:

  

  

  

  

  

  » وقف عام«چي  بنياد علمي آموزشي قلم

  021-8451تلفن:  – 923پلاك  –خيابان انقلاب بين صبا و فلسطين  :دفتر مركزي

 »چي وقف عام است بر گسترش دانش و آموزش آموزشي قلم  ها و درآمدهاي بنياد علمي تمام دارايي«

  گويي زمان پاسخ  صفحه ةشمار  سؤال ةشمار  تعداد سؤال  نام درس
  دقيقه 105  3-8  1 -70  70  زبان انگليسي تخصصي

  جمع كل  مطلب درك  زتستكلو  مكالمه  جمله ترتيب اجزاي  واژگان  گرامر  نام مبحث
  70  15  10  5  5  20  15  تعداد سؤالات
هاي درست  هدفگذاري تعداد پاسخ

  ◯  ◯  ◯  ◯  ◯  ◯ ◯  شما در اين آزمون
) بگذاريد و ―) و كنار سؤالاتي كه بلد نيستيد، علامت ((يا وقتگير هستند، علامت  دار شكبراساس تكنيك ضربدر و منها، كنار سؤالاتي كه 

 دار) بپردازيد.―سپس (  و )داري سؤالات (سدقيقه پاياني را به برر 15 ر سؤالات پاسخ دهيد.سايبه دقيقه  90ظرف مدت 
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  آورندگان  پديد
  منحصراً زبان آزمون
  1404ماه مرداد  3

  

  

  طراحان 
  نام طراحان  نام درس

  زبان تخصصي
پـور،   بيتـا قربـان  سيدمهدي خبازي، محسن رحيمي، محمدحسين مرتضوي، روش،  اله استيري، عقيل محمدي رحمت

حديثـه حبيبـي،   ، سامان بيغرضاميرحسين هاشمي، رزاده، ، سالار قنبمحمدطه بابامحمديراد،  حسنيمحمدمهدي 
 متين مغربي، اميرحسين ميرزايي، سپهر غلامي، عرفان رجبي، سارا صفري، ريحانه نصرالهي

  گزينشگران و ويراستاران

  زبان انگليسي تخصصي  نام درس

  استيري اله رحمت  و مسئول درس گزينشگر

  طاها اصغريان ،روش عقيل محمديلو، فاطمه نقدي،  سعيد آقچه  انويراستار

  

 گروه فني و توليد
 محدثه مرآتي  مدير گروه

  معصومه شاعري  مسئول دفترچه

  مستندسازي و مطابقت با مصوبات
  محيا اصغريمدير: 

  سپهر اشتياقي، مسئول درس: سوگند بيگلريمسئول دفترچه: 
  زاده، زهرا فلاحي ويراستاران: عليرضا رمضان

  يكزهرا تاج  آرايي نگاري و صفحه حروف
  عباسيحميد   ناظر چاپ

  

  
 
 
 

  »هاي هر آزمون و مطالب درسي به كانال منحصراً زبان كانون بپيونديد. براي دريافت اخبار گروه زبان، ويژگي«
@kanoonir_zabanتلگرام:  
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Part A: Grammar 
Directions: Questions 1-15 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet. 

 
 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

  سؤال70 زبان تخصصي
دقيقه105

1-She  …  the  interesting  book  carefully  in  her  bedroom  for  two  hours  last  year  during  the  winter
  holidays  while sipping tea and enjoying quiet solitude.
1) reads  2) has read  3) is reading  4) read
2-I … that beautiful historic museum many times with my close friends during holidays since retiring
  from the company.
1) visited  2) would visit  3) have visited  4) was visiting
3-She  felt  completely  exhausted,  for  she  …  on  the  difficult  project  nonstop  for  several  days  without
  taking any breaks or getting enough sleep.
1) had worked  2) has been working  3) was working  4) had been working
4-Students of English language and literature will have completed  the final draft of their group project,
  and … it to the professor for feedback by next Friday.
1) will submit  2) will be submitting  3) submitted  4) submit
5-The  company  …  its  innovative  product  line  next  quarter,  aiming  to  revolutionize  the  market  with
  groundbreaking features and unparalleled user experience for professionals worldwide.
1) is launching  2) launches  3) launched  4) has launched
6-The cookies … by my grandmother for the family gathering, and the warm and inviting aroma filled
  the kitchen.
1) had baked  2) were baked  3) that baking  4) which were baked

7-…  a  scholarship  from  two  different  universities,  Alex  spent  days  weighing  the  academic  strengths
  and campus atmosphere of each.
1) Offering  2) Having offered  3) So as to offer  4) Having been  offered

8-Many  unforgettable  memories  …  during  the  family  vacation  to  Europe,  from  visiting  museums  in
  Paris to exploring the streets of Barcelona.
1) are going to create  2) was being created  3) have been created  4) which were created

9-If the stars were … from the night sky, the beauty of the universe would be lost forever.
1) to disappear  2) disappeared  3) to be disappeared  4) to disappearing

10-During the intense summer heatwave, the garden’s flowers … at least twice a day to ensure they stay
  vibrant and healthy.

1) are needed to be watered  2) need to be watered
3) needs watering   4) need to be watering

11-Over the past few decades, a series of technological innovations known as containerisation and inter-
  modal transportation … to swift  productivity improvements in cargo-handling.

1) lead  2) has led  3) was leading  4) has to lead
12-When  she  graduates,  she  …  for  her  final  thesis  presentation  for  more  than  six  intense  months,
  demonstrating unwavering dedication throughout the entire process.

1) will have been preparing  2) will prepare
3) will have to prepare  4) will be preparing

13-They  …  for  several  months  to  meet  the  seemingly  impossible  targets  before  the  unexpected  policy
  shift occurred.

1) have striven hardly   2) had been striving hard
3) have been striven hard   4) had striven hardly

14-The newly recruited employees … comprehensive training during their first month to help them get
  acquainted with the company’s policies and procedures.

1) be given  2) give  3) were given  4) has given
15-The  decline  of  traditional  manufacturing  jobs  during  the  late  20th  century  ...  with  and  intensified
  public debates about  economic inequality.

1) would overlap  2) have overlapped  3) was overlapped  4) overlapped
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Part B: Vocabulary  
Directions: Questions 16-35 are incomplete sentences. Beneath each sentence you will see four words or phrases 
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct 
choice on your answer sheet. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 
 

 

 

16-She … the chairs in a circle so everyone could see each other during the meeting.
1) borrowed  2) delivered  3)  concealed  4) arranged

17-The instructions for assembling  the furniture were so … that I  needed professional help.
1) confident  2) complex  3) dangerous  4) suitable

18-Alex decided to take … for the  project’s failure and promised to improve his work next time.
1) control  2) action  3) responsibility  4) advantage

19-The new employee worked hard every day to … the expectations set by her manager and the company.
1) meet   2) believe  3) expand  4) break

20-A  substantial  ...  of  research  now  proves  that  student  satisfaction  and  engagement  in  learning  will
  increase with participation in the arts.

1) trait  2) body  3) bouquet  4) inclination
21-Some people find … through spiritual practices, while others seek it through personal achievements
  and professional success.

1) fulfillment  2) regulation  3) tension  4) confrontation
22-The  teacher  used  a  series  of  thought-provoking  questions  to  …  students’  attention  on  the  central
  theme of the novel.

1) impose  2) distract  3) focus  4) drift
23-Given the … pace of technological advance ment today, any slowing down can eventually lead to a
  loss of technological leadership and hence an inability to participate in future partnerships.

1) reluctant  2) alert  3) fanatic  4) frantic
24-Learning basic first  aid is  … straightforward,  but applying it  calmly in  emergencies takes  practice
  and confidence.

1) impatiently  2) reasonably  3) quickly  4) gradually
25-The pressure in the container became too high, causing it to unexpectedly ... and create a loud noise
  in the factory.

1) depart  2) explode  3) explore  4) sprout
26-Children frequently enjoy engaging in imaginative games where they eagerly adopt the roles of their
  favorite ... superheroes and princesses.

1) efficient  2) responsible  3) fictional  4) fragile
27-Emma’s ... to learn English increased when she got a job that required speaking with international
  customers every day.

1) motivation  2) resource  3) faith  4) poison
28-A strong economy, good governance, and investments in sustainable industries are key to long-term ... .

1) priority  2) prosperity  3) dispute  4) pollution
29-The ... entrepreneur started a new business with the goal of revolutionizing the technology industry.

1) relevant   2) unfounded  3) prudent  4) ambitious
30-The  meaning  of  the  old  poem  was  ...,  which  made  it  somewhat  difficult  for  the  students  to  fully
  understand its message.

1) precise  2) serious  3) obscure  4) positive
31-The doctor’s ... was necessary to stabilize the patient’s condition and prevent further complications.

1) misery       2) desire  3) intervention  4) indulgence
32-While it can be difficult to know what to say when offering … ,  simply acknowledging the person’s
  loss and expressing our sympathy can be enough.

1) annals  2) privations  3) donations  4) condolences
33-Despite  the  potential  benefits,  the  researchers  were  …  to  conduct  experiments  on  animals  due  to
  ethical concerns.

1) loath   2) mundane  3) aspirant  4) intriguing
34-The students had to prepare a/an ... amount of research for their final projects, which kept them busy
  for weeks.

1) penurious   2) heinous   3) copious   4) envious
35-The government has imposed a ... on how many cars can be imported from other countries each year.

1) quota   2) stride  3) veneer  4) chagrin
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Part C: Sentence Structure  
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correct 
choice on your answer sheet.  

36-    
1) The meeting that all the Brooklyn High School teachers were supposed to attend was canceled due to a 

power outage, which prevented the principal from giving his speech. 
2) The meeting in which all the Brooklyn High School teachers supposed to attend was canceled due to a 

power outage, which prevented the principal from giving his speech. 
3) The meeting where all the Brooklyn High School teachers were suppose to attend was canceled due to a 

power outage, that prevented the principal from giving his speech.  
4) The meeting that all the Brooklyn High School teachers supposed to attend in was canceled due to a 

power outage, that prevented the principal from giving his speech. 
37-    

1) Rarely a week passes without a new scandal in the papers, it reveals the corrupt nature of politics.  
2) A week rarely passes without a new scandal in the papers, which revealing the corrupt nature of politics.   
3) A week does rarely passes without a new scandal in the papers, revealing the corrupt nature of politics.  
4) Rarely does a week pass without a new scandal in the papers, which reveals the corrupt nature of politics. 

38-    
1) “Oughtn’t the water have boiled by now?” Mr. Bulut called through the kitchen window his wife, Eda, 

as he waited beside his car with a jug of boiling water to thaw its frozen radiator.  
2) “Oughtn’t the water to have boiled by now?” Mr. Bulut called through the kitchen window to his wife, 

Eda, as he waited beside his car for a jug of boiling water to thaw its frozen radiator.  
3) “Oughtn’t the water have to boil by now?” Mr. Bulut called through the kitchen window to his wife, 

Eda, as he waited beside his car by a jug of boiling water to thaw its frozen radiator.  
4) “Oughtn’t the water to have boil by now?” Mr. Bulut through the kitchen window called his wife, Eda, 

as he waited beside his car for a jug of boiling water to thaw its frozen radiator.  
39-    

1) Of the two candidates, Sarah believed that John was the more experienced. 
2) Sarah believed that John was the most experienced of the two candidates. 
3) Sarah believed that John was more experienced of the two candidates. 
4) The two candidates, Sarah believed that John was the more experienced. 

40-    
1) He used to work non-stop every day of the week, but he would rather to rest after winning the lottery.  
2) He used to work non-stop every day of the week, but he would rather rest after winning the lottery. 
3) He used to working non-stop every day of the week, but he would rather rest after winning the lottery. 
4) He used to working non-stop every day of the week, but he would rather resting after winning the lottery. 

Part D: Language Function 
Directions: Read the following conversations between two people and answer the questions about the conversations 
by choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. 

  A: Did you hear that Mark finally popped …(41)… to Emma? 
  B: Yeah, but after everything that happened with Lucy, it feels like a …(42)… to her. I mean they 
were together for so long.  
  A: I know! It’s like he …(43)… . She’s been through so much already, and now this?   
  B: Honestly, I can’t believe he moved on so quickly. It’s pretty harsh. 

41- 4) the magic wo3) the query2) the question1) the big leap rd  
42- 4)3) slap in the face2) feather in her cap1) sitting duck  bull in a china shop  
43- 2) t1) changed his mind ook a rain check     

3) cut a long story short    4) stabbed her in the back    
A: So? Did you accept the offer from Boston?   
B: Not yet. I was about to sign the papers, but then I totally got cold feet.   
A: What? Why? It’s a great company!   
B: Yeah, but relocating, leaving everything behind. It’s a lot. And to be honest, I’m afraid I’ll get 
there and hit a snag I didn’t expect.   
A: I get it, but staying here in that boring position? You always say it’s a …(44)… .   
B: True, and I’ve always had my heart set on working in a bigger city, you know?   
A: Then maybe it’s time to bite the bullet and go. You won’t grow if you don’t take risks.   
B: I guess you’re right. Everything’s still kind of up in the …(45)…, though. I need a day to think. 

44- 3) dead end job 4) cup of tea2) last resort1) couch potato  
45- 4) head3) heaven2) air1) sky
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Part E: Cloze Test  
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the 
correct choice on your answer sheet. 

Tourism has long been a subject of interest in both academic research and practical applications 
due to its significant economic, cultural, and social impact. Studies have shown ...(46)... stimulate 
local economies, create jobs, and foster cultural exchange between visitors and host communities. 
The rise of global tourism over the past century has been ...(47)... by the growth of diverse travel 
experiences, from luxury resorts to eco-tourism, which makes the field of tourism a multifaceted 
topic of exploration.  
    One of the key elements driving tourism ...(48)... availability and accessibility of travel 
opportunities. Technological advancements in transportation, such as the expansion of low-cost 
airlines and high-speed trains, have made travel more affordable and convenient for people from 
all ...(49)... of life. This has contributed to a/an ...(50)... increase in international tourism, allowing 
individuals to explore new destinations and cultures in ways that were previously unimaginable. 
Moreover, the digital era has significantly transformed ...(51)..., book, and experience travel. The 
rise of online platforms, social media, and review websites has altered the way tourists make 
decisions, shifting the focus from traditional travel agencies to online resources ...(52)... provide 
firsthand experiences and real-time recommendations. This shift has empowered consumers and 
allowed for a more personalized and informed travel experience.  
    However, tourism also presents challenges, particularly in terms of sustainability and its impact 
on the environment. As the demand for travel increases, there are growing concerns about the 
negative effects of over-tourism, including environmental degradation, cultural ...(53)..., and the 
strain on local infrastructure. In response, there has been ...(54)... sustainable tourism practices, 
such as eco-friendly accommodations, responsible travel behaviors, and the ...(55)... of cultural 
heritage, aiming to balance the benefits of tourism with its potential drawbacks. 

46- 4) that3) tourism that can2) that tourism1) tourism to be  tourism can 
47- 4) ameliorate3) accumulated2) accommodated1) accompanied d  
48- 2) which incr1) is increasing 4) i3) increasing is theeases s the increasing 
49- 4) styles3) signs2) walks1) spans
50- 2) exponential1) detrimental 4) nocturnal3) adjacent
51- 2) how do people plan1) people plan

4) people’s plan3) how people plan
52- 4) that2) which they 3) they1) so that
53- 4) convention2) treasure 3) erosion1) pursuit
54- 2) an emphasis growing on1) a growing emphasis on

4) on an emphasis growing3) growing on an emphasis
55- 4) salvation3) preservation2) variation1) stagnation

Part F: Reading Comprehension  
Directions: In this part of the test, you will read three passages. Each passage is followed by some questions. Answer the questions 
about the passages by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. 

PASSAGE 1:
Mass  transportation  transformed  the  social  and  economic  fabric  of  the  American  city  in  three
fundamental  ways.  It  catalyzed  physical  expansion,  sorted  people  and  land  uses,  and  accelerated
the  inherent  instability  of  urban  life.  By  opening  vast  areas  of  unoccupied  land  for  residential
expansion,  the  omnibuses,  horse  railways,  commuter  trains,  and  electric  trolleys  pulled  settled
regions outward to distances two to four times greater than those in the premodern era. In 1850,
for example, the borders of Boston lay scarcely two miles from  the old business district; by the turn
of the century, the radius extended ten miles. Now, those who could afford it could  live far from the
old  city  center  and  still  commute  there  for  work,  shopping,  and  entertainment.  The  new
accessibility of land around the periphery of almost every major city sparked an explosion of real
estate  development  and  fueled  what  we  now  know  as  urban  sprawl.  Between  1890  and  1920,  for
example, some 250,000 new residential lots were recorded within  the borders of Chicago, most of
which were located in outlying areas. Over the same period, another 550,000 were plotted outside
the  city  limits  but  within  the  metropolitan  area.  Anxious  to  take  advantage  of  commuting
opportunities, real estate developers added 800,000 potential building sites to the Chicago region in
just thirty years—areas that could have housed five to six million people.

  Of  course,  many  were  never  occupied;  there  was  always  a  huge  surplus  of  subdivided  but
vacant  land  around  Chicago  and  other  cities.  These  excesses  underscore  a  feature  of  residential
expansion related to the growth of mass transportation: urban sprawl was essentially unplanned. It
was carried out by thousands of small investors who paid little  heed to coordinated land use or to
future land users. Those who purchased and prepared land for residential purposes—particularly
land  near  or  outside  city  borders  where  transit  lines  and  middle-class  inhabitants  were
anticipated—did so to create demand as much as to respond to it. Chicago is a prime example of
this process. Real estate subdivision there proceeded much faster than population growth.
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56-With which of the following subjects is the passage mainly concerned?
1) Types of mass transportation  2) Instability of urban life
3) How supply and demand determine land use  4) The effects of mass transportation on urban expansion

57-The author mentions all of the following as effects of mass transportation on cities EXCEPT ... .
1) growth in city area   2) separation of commercial and residential districts
3) changes in life in the inner city  4) increasing standards of  living

58-Why does the author mention both Boston and Chicago?
1) To demonstrate positive and negative effects of growth
2) To show that mass transit changed many cities
3) To exemplify cities with and without mass transportation
4) To contrast their rates of growth

59-According to the passage, what was one disadvantage of residential expansion?
1) It was expensive.   2) It happened too slowly.
3) It was unplanned.   4) It created a demand for public transportation.

60-The author mentions Chicago in the second paragraph as an example of a city ... .
1) that is large
2) that is used as a model for land development
3) where land  development exceeded population growth
4) with an excellent mass transportation system
PASSAGE 2:

Understanding your carbon footprint is more than just knowing how much gas your car uses. It’s
about recognizing the ripple effect of your choices across the  globe. From the electricity powering
your  lights  to  the  farm  that  grew  your  breakfast,  almost  everything  we  do  leaves  a  trace  of
greenhouse gases in the atmosphere. Consider this: the food you  eat travels from fields far away,
the  clothes  you  wear  were  likely  manufactured  overseas,  and  even  your  online  shopping  habits
contribute  to  emissions  through  packaging  and  transportation.  Therefore,  calculating  a
comprehensive  carbon  footprint  involves  examining  various  aspects  of  our  lifestyles,  and  the
consequences are more far-reaching than many realize.
  While  personal  habits  undeniably  contribute,  let’s  not  overlook  the  bigger  picture.  Large
corporations  and  entire  industries  possess  carbon  footprints  that  far  eclipse  those  of  individuals.
Therefore, it’s vital to push companies to adopt environmentally friendly practices and hold them
accountable for their impact. What, then, can we do to shrink our own impact? Start by making
mindful decisions: choose to cycle to work instead of driving,  support local farmers, and invest in
energy-efficient  appliances.  However,  individual  efforts  alone  won’t  solve  the  climate  crisis.  We
also  need  systemic  shifts—a  transition  to  renewable  energy,  the  implementation  of  sustainable
agricultural  techniques,  and  policies  that  make  polluters  accountable.  Because  tackling  climate
change requires collective action, combining personal responsibility with advocacy for large-scale
change is our best path forward.

61-All of the following are mentioned in paragraph 1 EXCEPT … .
1) the far-reaching consequences  of lifestyle choices on the environment
2) the impact of global  trade and production on individual carbon footprints
3) the connection between everyday consumption and greenhouse gas emissions
4) the need for immediate government regulation of carbon emissions

62-Which  of  the  following  best  reflects  the  author’s  assessment  of  personal  habits  in  addressing  the
  carbon footprint issue?

1) Valuable and Simplistic  2) Positive and Exhaustive
3) Practical yet Inconclusive  4) Relevant but Detrimental

63-Which of the following pairs of techniques is used in paragraph  2?
1) Rhetorical Question and Exemplification  2) Analogy and Understatement
3) Generalization and Definition  4) Cause and Effect and Personal Anecdote

64-The passage provides sufficient information to answer which of  the following questions?
I. What are some mindful decisions individuals can make to reduce their carbon footprint?
II. Is there an environmental difference between how we travel,  or are all methods equally harmful?
III. What kind of shifts are needed in addition to individual efforts to solve the climate crisis?
1) Only I  2) II and III  3) Only II  4) I and III

65-According to the passage, which of the following statements is  NOT true?
1)  Our  dependence  on  energy  and  resources  means  that  almost  every  action,  no  matter  how  small,  adds 

greenhouse gases to the atmosphere.
2)  Individual actions leave an extensive carbon footprint, which often dwarfs the collective impact of large 

corporations and entire industries.
3)  A thorough assessment of one’s carbon footprint necessitates  a review of diverse lifestyle elements, as 

the resulting implications extend beyond common awareness.
4)  Given climate change mitigation necessitates collaborative efforts, integrating individual accountability 

with systemic reform offers the most effective strategy for progress.
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PASSAGE 3:
American Romanticism was a cultural, literary, and philosophical movement in the United States
that  emerged  in  the  early  19th  century  and  remained  influential  until  the  outbreak  of  the  Civil
War. It is associated with the broader European Romantic movement that began in the late 18th
century,  particularly  in  Britain  and  Germany.  [1]  However,  the  American  context  shaped
Romanticism  in  distinctive  ways.  Developing  in  a  rapidly  expanding  nation,  American
Romanticism  emphasized  individualism,  emotion,  and  a  deep  reverence  for  the  natural  world.
These  ideas  were  often  presented  in  contrast  to  the  Enlightenment  ideals  of  reason,  order,  and
classical restraint that had previously dominated intellectual  thought.

  In  many  respects,  American  Romanticism  diverged  from  its  European  counterpart.  While
European Romanticism often drew upon medievalism, aristocratic  traditions, and historical continuity,
the  American  version  was  influenced  by  the  frontier  spirit  and  the  democratic  ethos  of  a  young  and
growing nation. Writers such as Ralph Waldo Emerson and Henry David Thoreau articulated a vision
of self-reliance, personal intuition, and spiritual communion with nature through a movement known as
Transcendentalism.  [2]  Their  works,  including  Emerson’s  Nature  and  Thoreau’s  Walden,  proposed
that truth and moral understanding were found not through institutional authority, but through direct
engagement with the natural world and introspective thought.
  Parallel  to  these  optimistic  and  philosophical  tendencies  was  a  darker  strain  of  American
Romanticism,  one  that  explored  the  complexities  and  contradictions  of  the  human  experience.
Authors such as Edgar Allan Poe,  Nathaniel Hawthorne, and Herman Melville delved into themes
of  sin,  guilt,  madness,  and  the  limits  of  knowledge.  [3]  Poe’s  tales  of  horror  and  the  macabre,
Hawthorne’s allegories rooted in the Puritan past, and Melville’s epic Moby-Dick reflect a concern
with the darker recesses of the human soul and the ambiguous nature of morality. These writers
often  employed  symbolism,  gothic  elements,  and  psychological  depth  to  question  human  motives
and explore the boundaries of rational thought.
  As with the term “English Renaissance,” the designation “American Romanticism” is a modern
scholarly  construction.  Though  some  critics  argue  that  the  term  is  too  broad  or  imprecise  to
capture the diversity of the period, it remains a useful framework for understanding a major phase
in American cultural and literary  development. [4] The works of  this era helped define a distinctly
American  voice  and  laid  the  groundwork  for  much  of  the  nation’s  subsequent  artistic  and
intellectual life.

66-The underlined word “restraint”  in paragraph 1 is closest in meaning to … .
1) moderation   2) liberty  3) anarchy  4) extravagance

67-None of the following is mentioned in paragraph 1 EXCEPT … .
1) the influence of English Renaissance on its American counterpart
2) the themes of sin and guilt shaping emotional and individual  expression
3) the approximate time frame  of the American Civil War
4) how European Romanticism helped shape American culture

68-According to the passage, which of the following statements is  true?
1)  Although  American  Romanticism  drew  inspiration  from  European  movements,  it  remained  largely 

autonomous, focusing on the political issues of the American Civil War and colonial independence.
2)  Authors  such  as  Melville  are  widely  regarded  as  central  figures  in  the  darker  tradition  of  American 

Romanticism, distinguished by their use of symbolic imagery to  probe the intricacies of the human psyche.
3)  The  American  Romantic  period  was  short-lived  and  limited  in  influence,  largely  ignored  by  later 

scholars who believed it lacked cohesion and failed to shape American literary identity.
4) Writers such as Emerson and  Thoreau emphasized traditional religious practices and institutional authority,

arguing that social stability was the foundation of personal freedom and individual introspection.
69-Which of the following statements can best be inferred from the  passage?

1)  Emerson  and  Thoreau  likely  challenged  prevailing  social  and  religious  institutions  of  their  time  by
  encouraging  individuals  to  seek  personal  spiritual  and  ethical  insights  outside  established  authorities,
  highlighting a shift toward valuing experience gained by living  in urban areas.
2)  Despite  the  overall  discouraging  tone  often  associated  with  American  Romanticism,  there  was
  simultaneously  a  significant  interest  among  some  writers  in  confronting  the  more  idealistic  aspects  of
  human nature.
3)  The  rapid  growth  and  change  in  the  United  States  influenced  the  themes  and  concerns  of  American
  Romanticism,  prompting  writers  to  respond  to  the  challenges  and  opportunities  of  the  nation,  which
  resulted in the American Civil War.
4) During the period itself, the writers and thinkers of American Romanticism did not consider themselves
  members of a single, organized movement. Instead, their works likely reflected a variety of individual
  perspectives and styles.

70-In which position marked by [1], [2], [3] or [4], can the following sentence best be inserted in the passage?
“This  emphasis  on  personal  insight  and  nonconformity  reflected  a  broader  cultural  shift  toward
  individual autonomy and skepticism  of institutional authority.”
1) [1]  2) [2]  3) [3]  4) [4]
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  1404ماه مرداد 3 آزمون

  منحصراً زبان

  »اختصاصيپاسخ «

  » وقف عام«چي  بنياد علمي آموزشي قلم

  021-6463تلفن:  – 923پلاك  –خيابان انقلاب بين صبا و فلسطين  :دفتر مركزي
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  آورندگان  پديد
  منحصراً زبان آزمون
  1404ماه مرداد  3

  

  

  طراحان 
  نام طراحان  نام درس

  زبان تخصصي
پـور،   بيتـا قربـان  سيدمهدي خبازي، محسن رحيمي، محمدحسين مرتضوي، روش،  اله استيري، عقيل محمدي رحمت

حديثـه حبيبـي،   ، سامان بيغرضاميرحسين هاشمي، رزاده، ، سالار قنبمحمدطه بابامحمديراد،  حسنيمحمدمهدي 
 متين مغربي، اميرحسين ميرزايي، سپهر غلامي، عرفان رجبي، سارا صفري، ريحانه نصرالهي

  گزينشگران و ويراستاران

  زبان انگليسي تخصصي  نام درس

  استيري اله رحمت  و مسئول درس گزينشگر

  طاها اصغريان ،روش عقيل محمديلو، فاطمه نقدي،  سعيد آقچه  انويراستار

  

 گروه فني و توليد
 محدثه مرآتي  مدير گروه

  معصومه شاعري  مسئول دفترچه

  مستندسازي و مطابقت با مصوبات
  محيا اصغريمدير: 

  سپهر اشتياقي، مسئول درس: سوگند بيگلريمسئول دفترچه: 
  زاده، زهرا فلاحي ويراستاران: عليرضا رمضان

  يكزهرا تاج  آرايي نگاري و صفحه حروف
  عباسيحميد   ناظر چاپ

  

  
 
 
 

  »هاي هر آزمون و مطالب درسي به كانال منحصراً زبان كانون بپيونديد. براي دريافت اخبار گروه زبان، ويژگي«
@kanoonir_zabanتلگرام:  
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  )محسن رحيمي(  »4«گزينة  - 1
  نكتة مهم درسي:

بايد از زمان گذشـتة سـاده    ”last year“با توجه به مفهوم جمله و وجود قيد زمان 
  ها).   استفاده كنيم (رد ساير گزينه

  (گرامر)
----------------------------------------------  

  )محسن رحيمي(  »3«گزينة  - 2
  كتة مهم درسي:ن

از بايـد  همراه بـا مبـدأ زمـان،     ”since“حرف اضافة با توجه به معني جمله و وجود 
  ها).   زمان حال كامل استفاده كنيم (رد ساير گزينه

  (گرامر)
----------------------------------------------  

  )محسن رحيمي(  »4«گزينة  - 3
  نكتة مهم درسي:

بـراي   »).2« ةاستفاده كنـيم (رد گزين ـ  وان از زمان حالت زمان جمله، نميبا توجه به 
توان از زمـان گذشـتة اسـتمراري     بيان انجام عملي قبل از عمل ديگر در گذشته نمي

انجـام عمـل   اسـتمرار  كيـد روي  أهمچنـين، چـون ت  »). 3«استفاده كـرد (رد گزينـة   
  »).  1«باشد، بايد از زمان گذشتة كامل استمراري استفاده كنيم (رد گزينة  مي

  (گرامر)
----------------------------------------------  

  )محسن رحيمي(  »3«گزينة  - 4
  نكتة مهم درسي:

ندة كامل يآ ، بايد از زمان”by next Friday“با توجه به مفهوم جمله و وجود قيد 
  و ”and“سـاز   ايـه ربط همپبا توجه به وجود حرف  سؤالن اي  استفاده كنيم. حال در

بـه قرينـة لفظـي     ”have“و  ”will“ي هـا  فاعل دو جمله يكسان است، فعل كه ناي
“ellipsis” اند و تنها بايد در جاي خـالي از شـكل سـوم فعـل اسـتفاده       حذف شده

  ها). كنيم (رد ساير گزينه
  (گرامر)

----------------------------------------------  

  )سن رحيميمح(  »1«گزينة  - 5
  نكتة مهم درسي:

  نكـه اي  نـده) و يآ  ( سه ماهـة  ”next quarter“قيد  وجودجه به مفهوم جمله و با تو
ريزي شده است، بايد از زمان حال اسـتمراري اسـتفاده كنـيم     ن عمل از قبل برنامهاي

  ها).   (رد ساير گزينه
  (گرامر)

----------------------------------------------  

  )راد محمدمهدي حسني(  »2«گزينة  - 6
  مهم درسي: نكتة

در »). 3و  1«ي هـا  ، فعل بايد به شـكل مجهـول باشـد (رد گزينـه    ”by“با توجه به 
  »).4«شود (رد گزينة  صورت استفاده از ضمير موصولي، جمله ناقص مي

  (گرامر)
----------------------------------------------  

  )راد محمدمهدي حسني(  »4«گزينة  - 7
  نكتة مهم درسي:

مفعـولي اسـت، بنـابراين بايـد از فعـل مجهـول        ”offer“راي فعل ب ”Alex“نقش 
  ).ها استفاده كنيم (رد ساير گزينه

  (گرامر)

----------------------------------------------  

  )راد محمدمهدي حسني(  »3«گزينة  - 8
 نكتة مهم درسي:

تفاده بعد از جاي خالي مفعولي وجود ندارد، بنابراين بايد از شـكل مجهـول فعـل اس ـ   
 ”was“فاعل جمله جمع است، پس اسـتفاده از فعـل مفـرد    »). 1«كنيم (رد گزينة 

موجـب نـاقص    ”which“استفاده از ضمير موصولي »). 2«صحيح نيست (رد گزينة 
  »).4«شود (رد گزينة  شدن جمله مي

  (گرامر)

----------------------------------------------  

  )درا محمدمهدي حسني(  »1«گزينة  - 9
  نكتة مهم درسي:

اسـت و مفعـول نـدارد،     ناگـذر  فعلـي (ناپديد شـدن)   ”disappear“جايي كه  از آن
 ”were to“بعـد از  »). 3و  2«ي ها كار برود (رد گزينه صورت مجهول به تواند به نمي

  »).4«فعل استفاده كنيم (رد گزينة  ةبايد از شكل ساد
  (گرامر)

----------------------------------------------  

  )راد محمدمهدي حسني(  »2«گزينة  -10
  نكتة مهم درسي:

  ساختار مورد قبول است: دوتنها  ”need“براي ساخت حالت مجهول با 
“need(s) + to be + p.p.” يا “need(s) + doing”  

اسـتفاده شـود    ”need“توجه داشته باشيد كه فاعل جمع است، بنابراين بايـد از  
  ).ها (رد ساير گزينه

  گرامر)(

----------------------------------------------  

  )حديثه حبيبي(  »2«گزينة  -11
  نكتة مهم درسي:
زمان كامـل داريـم   يك نياز به  ”over the past few decades“با توجه به قيد 
 ها).   (رد ساير گزينه

  (گرامر)

----------------------------------------------  

  )حبيبيحديثه (  »1«گزينة  -12
  نكتة مهم درسي:

تـيم   ةنديآ نيازمند زمان ،”when she graduates“ وارة قيدي جملهبا توجه به   كامـل هس
 ”for over six intense months“دقــت كنيــد كــه عبـاـرت  هـاـ) سـاـير گزينــه(رد 

    .استمرار در فعاليت است ةدهند نشان
  (گرامر)

----------------------------------------------  

 زبان تخصصي
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  )حديثه حبيبي(  »2«گزينة  -13
  نكتة مهم درسي:

در انتهاي جمله نيازمند فعلي با زمـان   ”occurred“با توجه به مفهوم جمله و فعل 
  به ساختار زير دقت كنيد: .)»3و  1«ي ها گذشته هستيم (رد گزينه

“past perfect + before + past simple”  
فعل غيرربطي است و بعـد از   يك »تلاش كردن«به معناي  ”strive“همچنين فعل 

 يصفت حالت »سخت«به معناي  ”hard“نه صفت؛ اما  و آن بايد از قيد استفاده كرد
 »).4و  1«ي ها (رد گزينهقيدي يكساني دارد و 

  (گرامر)

----------------------------------------------  

  )حديثه حبيبي(  »3«گزينة  -14
  نكتة مهم درسي:

در  »).4و  2«ي هـا  (رد گزينـه  ه نيازمند فعل مجهول هسـتيم با توجه به مفهوم جمل
توجـه   »).1«(رد گزينة  شود ميجمله فاقد فعل اصلي » 1«كارگيري گزينة  صورت به

به همين دليـل   ،آيد مياز افعال دو مفعولي به حساب  ”give“داشته باشيد كه فعل 
عنوان مفعـول  نيز به  ”comprehensive training“با وجود مجهول بودن فعل، 

  آمده است.
  (گرامر)

----------------------------------------------  

  )حديثه حبيبي(  »4«گزينة  -15
  نكتة مهم درسي:

پس فعـل جملـه نيـز بايـد      ؛بوده كه مفرد است ”the decline“فاعل اصلي جمله 
(رد با توجه به مفهوم جمله نيازمند فعل معلـوم هسـتيم    ).»2«ة مفرد باشد (رد گزين

قـرار دارد   ”and“كـه بعـد از    ”intensified“دقت كنيـد كـه فعـل     »).3«گزينة 
(رد  ساده استفاده كـرد  ةپس براي رعايت همپايگي بايد از گذشت ،ساده است ةگذشت

  »).1«گزينة 
  (گرامر)

----------------------------------------------  

  )پور بيتا قربان(  »4«گزينة  -16
تا همه در طول جلسـه بتواننـد    ديچ يا رهيرا به شكل دا ها يندلاو ص«ترجمة جمله: 

  .»ننديرا بب گريكدي
  ) تحويل دادن2  ) قرض گرفتن1 
  ) چيدن، مرتب كردن4  پنهان كردن )3

  )واژگان(

----------------------------------------------  

  )پور بيتا قربان(  »2«گزينة  -17
بودند كه مجبور  دهيچيقدر پ دنِ مبلمان آنكر سرهم يها دستورالعمل«ترجمة جمله: 

  ».رميمتخصص كمك بگ كيشدم از 
  ) پيچيده2  ) مطمئن1
  ) مناسب4  ) خطرناك3

  )واژگان(

----------------------------------------------  

  )پور بيتا قربان(  »3«گزينة  -18
 الكس تصميم گرفت مسئوليت شكسـت پـروژه را بپـذيرد و قـول داد    «ترجمة جمله: 

  »دفعة بعد عملكردش را بهتر كند.
  :”take“ها در همراهي با  ترجمة گزينه

  ) اقدام كردن2  ) در اختيار قرار گرفتن1
 ) سوء استفاده كردن4  ) پذيرفتن مسئوليت3

  )واژگان(
----------------------------------------------  

  )پور بيتا قربان(  »1«گزينة  -19
تا انتظاراتي كه توسـط مـديرش   روز سخت كار كرد هر كارمند جديد «ترجمة جمله: 

  »  مشخص شده بودند را برآورد كند. شركتو 
  باور كردن )2  ديدار كردن) 1
  ) شكستن4  وسعه دادنت) 3

  نكتة مهم درسي:
(بـرآورده كـردن انتظـارات و     ”meet the expectations“بـه تركيـب واژگـاني    

  توقعات) دقت كنيد.
  )واژگان(

 ----------------------------------------------  

  )متين مغربي(  »2«گزينة  -20
 و رضـايت  كـه  كنـد  مي ثابت اكنون تحقيقات از توجهي قابل ةمجموع« :ترجمة جمله

 افـزايش  هنـري  يهـا  فعاليـت  در مشـاركت  بـا  يـادگيري،  در آمـوزان  دانش مشاركت
  ».يابد مي
  چيزي از زيادي مقداري مجموعه، )2  ويژگي )1
  گرايش تمايل، )4  )گل هدست( دسته )3

  )واژگان(
----------------------------------------------  

  )شميها  اميرحسين(  »1«گزينة  -21
دسـت  خوشـنودي   بـه  ي معنـوي هـا  بعضي از افراد از طريـق تمـرين  «جمله:  ةترجم
 اي كه ديگران آن را از طريق دستاوردهاي شخصي و موفقيت حرفه يابند، در حالي مي

  »كنند. يمجو و جست
  قانون) 2  ) رضايت، خشنودي1
  ) مواجهه، رويارويي4  ) تنش، كشمكش3

  )واژگان(
----------------------------------------------  

  )شميها  اميرحسين(  »3«گزينة  -22
برانگيز استفاده كرد تـا توجـه    تأملي ها از پرسش اي معلم از مجموعه«جمله:  ةترجم
 »ي رمان متمركز كند.آموزان را بر موضوع اصل دانش

  پرت كردن حواس) 2  تحميل كردن) 1
  هدف حركت كردن آهسته و بي) 4  متمركز كردن، تمركز كردن) 3

  نكتة مهم درسي:
(توجـه   ”focus someone’s attention on something“به تركيب واژگاني 

 دقت كنيد.كسي را بر روي چيزي متمركز كردن) 

  )واژگان(
----------------------------------------------  
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   )اميرحسين ميرزايي(  »4« ةنيگز -23
در عصر حاضر، هرگونه  يفناور شرفتيآور پ با توجه به سرعت سرسام:«ترجمة جمله 

 جـه يو در نت يفنـاور  يشـتاز يبـه از دسـت دادن پ  در نهايت  تواند يكاهش سرعت م
  »منجر شود. يآت يها يهمكار اي ها در مشاركت در شراكت يناتوان

  اريهش )2 ليم يب) 1
  آور سرسام ،مهيسراس )4 ، متعصبتندرو) 3

  )واژگان(
----------------------------------------------  

  )اميرحسين ميرزايي(  »2«گزينة  -24
آن  يريكارگ نسبتاً ساده است، اما به ييابتدا ةياول يها كمك يريادگي« ترجمة جمله:

  »و اعتماد به نفس است. نيتمر ازمندين ياضطرار طيبا آرامش در شرا
  طور منطقي ، بهنسبتاً) 2 صبرانه يب )1
  جيتدر به )4 سرعت به) 3

  )واژگان(
----------------------------------------------  

 )سالار قنبرزاده(  »2«گزينة  -25
طـور   فشار داخل مخزن بيش از حد بـالا رفـت و باعـث شـد كـه بـه      « جمله: ةترجم

 ».جاد كنداي  شود و صداي بلندي در كارخانه اي منفجر غيرمنتظره

 ) منفجر شدن2  ) عازم شدن1

 ) جوانه زدن4  ) كاوش كردن3

  )واژگان(
----------------------------------------------  

 )سالار قنبرزاده(  »3«گزينة  -26
برنـد كـه در    هاي تخيلـي لـذت مـي    كودكان اغلب از شركت در بازي« جمله: ةترجم
فـا  اي  خـود را  ةخيـالي مـورد علاق ـ  هـاي   ملكـه تياق نقـش ابرقهرمانـان و   با اش ـ جا آن
 ».كنند مي

 ) مسئول2  ) كارآمد1

 ) شكننده4  ، ساختگي) خيالي3

  )واژگان(
----------------------------------------------  

 )سالار قنبرزاده(  »1«گزينة  -27
ي افزايش يافت كه شـغلي  اما براي يادگيري زبان انگليسي زمان ةانگيز« جمله: ةترجم

 »المللي بود. پيدا كرد كه نيازمند صحبت روزانه با مشتريان بين

 ) منبع2  ) انگيزه1

 سم، زهر) 4  مان، اعتقاداي  )3

  )واژگان(
----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  -28
نقـش   داري ـپا عيدر صنا يگذار هياخوب و سرم يحكمران ،ياقتصاد قو«ترجمة جمله: 

  ».دارندبلندمدت  رفاه ي درمهم
  ) رفاه2  تي) اولو1
  ي) آلودگ4  ) اختلاف3

  )واژگان(
----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  -29
كسـب و   ،يتحول در صنعت فنـاور  جاداي  طلب با هدف جاه نيكارآفر«ترجمة جمله: 

  »كرد. يرا راه انداز يديجدكار 

  اساس ي) ب2  ) مرتبط1
 طلب ) جاه4  ) محتاط3

  )واژگان(

----------------------------------------------  

  )سپهر غلامي(  »3«گزينة  -30
 يآن را بـرا  امي ـفهـم پ باعـث شـد   مبهم بود، كه   مييشعر قد يمعنا«جمله:  ةترجم
  .»شوددشوار  يآموزان تا حد دانش

  يجد) 2         واضح) مشخص، 1
  ) مثبت4  نامفهوم، مبهم) 3

  )واژگان(

----------------------------------------------  

  )سپهر غلامي(  »3«گزينة  -31
از عـوارض   يريو جلـوگ  مـار يب تيوضـع  تي ـتثب يپزشك برا ةمداخل«جمله:  ةترجم

  »بود. يضرور شتريب
  لي) علاقه، م2  بدبختي) 1

  روي، افراط هزياد) 4  ) دخالت، مداخله3

  )واژگان(

----------------------------------------------  

  )سامان بيغرض(  »  4«گزينة  -32
 تيهنگـام ابـراز تسـل    ميبدانكه كه ممكن است سخت باشد  يدر حال«ترجمة جمله: 

  »باشد. يكاف تواند يم مان يفقدان فرد و ابراز همدرد پذيرشتنها  م،ييبگو ديچه با
  محروميت) 2  ) تاريخچه  1
 همدردي ) تسليت،4  ) اهدا       3

  نكتة مهم درسي:
ابــراز  تســليت گفــتن،«بــه معنـي   ”offer condolences“بـه تركيــب واژگــاني  

  توجه كنيد.» همدردي كردن

  )واژگان(

----------------------------------------------  

  )سامان بيغرض(  »1«گزينة  -33
 ـ لي ـپژوهشگران به دل ،ياحتمال يايبا وجود مزا«ترجمة جمله:   ياخلاق ـ يهـا  ينگران

  »نداشتند. واناتيح يبر رو شيبه انجام آزما يليتما

  پا افتاده، معمولي     پيش) 2  ميل بي )1
  ) جذاب  4               خواهان) 3

  )واژگان(

----------------------------------------------  
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  )اله استيري رحمت(  »3«گزينة  -34
را آمـاده   ياديز قاتيخود تحق يينها يها پروژه يبرا ديآموزان با نشدا«ترجمة جمله: 

  »ها مشغول نگه داشت. هفته يكه آنها را برا كردند يم

  عي) شن2  فقير) 1

  حسود) 4  ) فراوان3

  )واژگان(

----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  -35
تواند از  ميكرده است كه سالانه چه تعداد خودرو  يندب هيدولت سهم«ترجمة جمله: 

  .»وارد شود گريد يكشورها

  ، پيشرفت) گام2  هيسهم) 1

 ي) ناراحت4  ) روكش3

  )واژگان(

----------------------------------------------  

   )سيدمهدي خبازي(  »1«گزينة  -36
  نكتة مهم درسي:

كه بعـد از ويرگـول   روري و اختياري براي افزودن توضيح يا توصيف غيرض  ”that“از
دقـت داشـته باشـيد كـه فعـل      »). 4و  3«ي هـا  كنيم (رد گزينه مياستفاده نآيد  مي

“attend”  شـود؛ بـه    مـي همراه با حرف اضافه اسـتفاده ن » شركت كردن«در معناي
 ”attend in“چنــين عبــارت  و هــم ”where”  ،“in which“همــين منظــور، 

  ).ها ر گزينهباشند (رد ساي مينادرست 

  )جمله ترتيب اجزاي(

----------------------------------------------  

  )سيدمهدي خبازي(  »  4«گزينة  -37
  نكتة مهم درسي:

. »)1«كنـد (رد گزينـة   وصـل  تواند به تنهايي دو جملة كامـل را بـه هـم     ويرگول نمي
 ”does“همراه  به»). 2«نادرست  است (رد گزينة  ”which revealing“ساختار 

 »).3«استفاده كرد (رد گزينة  مفرد توان از فعل سوم شخص نمي

  )جمله ترتيب اجزاي(

----------------------------------------------  

  )سيدمهدي خبازي(  »2«گزينة  -38
  نكتة مهم درسي:

 ”call (through somewhere) to somebody (for something)“ از عبارت
» بخـواهيم  او خواهيم كسي را با صداي بلند صدا بزنيم و چيـزي از  مي«كه ن مفهوم اي  براي بيان
اـ  كنيم (رد ساير گزينـه  مياستفاده  اـرت  ه  ”oughtn’t the water to have boiled“). عب

  ).ها ترتيب اجزاي صحيحي دارد (رد ساير گزينه

  )جمله ترتيب اجزاي(

----------------------------------------------  

  )عرفان رجبي(  »1«نة گزي -39
  نكتة مهم درسي:

دو شخص، دو گروه يـا دو   ةبراي مقايس  )more experiencedاز صفات تفضيلي (
بـيش از دو مـورد   مقايسه ميـان  كه صفات عالي براي  درحالي ،شود استفاده مي ءشي
نيـز  » 4«دارد. در گزينـة   ”the“نياز به » 3«صفت در گزينة  .»)2«(رد گزينة  است
 .»)4«داريم (رد گزينة  ”of“ه نياز ب

  )جمله ترتيب اجزاي(
----------------------------------------------  

  )عرفان رجبي(  »2«گزينة  -40
  نكتة مهم درسي:

بـراي بيـان عملـي اسـت كـه در گذشـته        ”used to do something“سـاختار  
 شـود  نمـي شده و ديگر انجام  صورت مرتب و از روي عادت توسط شخص انجام مي به

از مصدر  ”would rather“. توجه داشته باشيد كه بعد از »)4و  3«هاي  (رد گزينه
  .»)4و  1«هاي  (رد گزينه شود استفاده مي ”to“بدون 

  )جمله ترتيب اجزاي(
----------------------------------------------  

 )سارا صفري(  »2« نهيگز -41
  نكتة مهم درسي:

دقـت  » پيشنهاد ازدواج دادن«به معناي  ”pop the question“به تركيب واژگاني 
 كنيد.

  )مكالمه(
----------------------------------------------  

 )سارا صفري(  »3« نهيگز -42
 قرار دارد يريپذ بيآس تيكه در موقع يزيچ اي يهدف آسان، كس) 1

 افتخار، دستاورد) 2

 ياحترام يب ن،يتوه) 3

 دست و پا چلفتي) 4

  )همكالم(
----------------------------------------------  

 )سارا صفري(  »4« نهيگز -43
 عوض كردن تصميم) 1

 بعد موكول كردنبه  را يشنهاديپ ايدعوت ) 2

  كوتاه كردن حرف) 3
 كردن، از پشت خنجر زدن انتيخ يبه كس) 4

  )مكالمه(
----------------------------------------------  

  )حانه نصرالهيري(  »3«گزينة  -44
  آدم تنبل) 1
   چاره نيآخر) 2
  ندهيآ  كار كساد و بدون) 3
   مورد علاقه ل،يباب م) 4

  )مكالمه(
----------------------------------------------  
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 )ريحانه نصرالهي(  »2«گزينة  -45
  نكتة مهم درسي:

 يد.دقت كن» نامشخص و نامعلوم«به معناي  ”up in the air“به تركيب واژگاني 

  )مكالمه(
----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  -46
  نكتة مهم درسي:

ي ها توان از گزينه ميبعد از جاي خالي، ن ”stimulate“با توجه به وجود فعل سادة 
به عنوان ضمير موصولي براي  ”that“استفاده كرد. در صورت به كارگيري » 2و  1«

  »).3«شود (رد گزينة  مي، جمله از نظر گرامري ناقص ”tourism“اسم 
  )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  -47
  ) جا دادن2  ) همراه بودن1
  ، بهبود دادن) بهبود يافتن4  ) جمع كردن، انباشتن3

  )كلوزتست(
 ----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  -48
  نكتة مهم درسي:

باشـد،   ”increase“تواند فاعل مناسـبي بـراي فعـل     ميعبارت قبل از جاي خالي ن
ساير به عنوان فعل جمله استفاده كرد (رد  ”increase“پس در جاي خالي نبايد از 

بـه عنـوان صـفت     ”increasing“كلمـة  » 4«). دقت كنيد كـه در گزينـة   ها گزينه
  مورد استفاده قرار گرفته است. ”availability“فاعلي براي اسم 

  )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  -49
  نكتة مهم درسي:

دقـت  » تمـام اقشـار جامعـه   «به معنـاي   ”all walks of life“به تركيب واژگاني 
  كنيد.

  )تكلوزتس(
----------------------------------------------  

  )اله استيري رحمت(  »2«گزينة  -50
  ) تصاعدي2  ) مضر1
  ) شبانه4  ) مجاور3

  )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  -51
  نكتة مهم درسي:

ا نقـش مفعـول را بـراي فعـل     نيـاز داريـم ت ـ    ميدر جاي خالي به يـك سـاختار اس ـ  
“transform”  با توجه به ادامة جملـه بايـد از   »). 1«بازي كند (رد گزينة“plan” 

نبايـد جملـه بـه      ميوارة اس ـ در جمله»). 4«اده كنيم (رد گزينة به صورت فعلي استف
  »).2«الي نوشته شود (رد گزينة ؤصورت س

  )كلوزتست(
----------------------------------------------  

  )اله استيري رحمت(  »4«گزينة  -52
  نكتة مهم درسي:

كه قرار است مـورد    مياس»). 1«داريم (رد گزينة » كه«در جاي خالي نياز به مفهوم 
 2«ي هـا  وصف قرار بگيرد نبايد مجدد در قالب ضمير در جمله پديدار شود (رد گزينه

  »).3و 
  )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  -53
  ) گنجينه2  ) تعقيب1
  ) معاهده4  ) فرسايش3

  )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »1«گزينة  -54
  نكتة مهم درسي:

يـك  «رعايت شده است كه بيـانگر مفهـوم   » 1«ترتيب درست كلمات تنها در گزينة 
  باشد. مي» زاينده رويِتأكيد ف

  )كلوزتست(

----------------------------------------------  

  )اله استيري رحمت(  »3«گزينة  -55
  ) تنوع2  ) ركود1
  ) رستگاري، ماية نجات4  ) محافظت3

  )كلوزتست(

----------------------------------------------  

  )روش عقيل محمدي(  »4«گزينة  -56
  »؟يك از موضوعات زير مرتبط است به كدامعمدتاً متن «ترجمة جمله: 

  »شهري گسترش بر  ميعمو نقل و حمل تأثيرات«
  )درك مطلب(

----------------------------------------------  

  )روش عقيل محمدي(  »4«گزينة  -57
 بـر   ميعمـو  نقـل  و حمل تأثيرات عنوان به زير موارد ةهم به نويسنده«ترجمة جمله: 

  ». ... جز به كند، مي هاشار شهرها
  »زندگي استانداردهاي افزايش«

  )درك مطلب(

----------------------------------------------  

  )روش عقيل محمدي(  »2«گزينة  -58
  »برد؟ مي نام شيكاگوهم از  و بوستون ازهم  نويسنده چرا«ترجمة جمله: 

 .»است داده تغيير را اشهره از بسياري  ميعمو نقل و حمل نكهاي  دادن نشان براي«

  )درك مطلب(

----------------------------------------------  
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  )روش عقيل محمدي(  »3«گزينة  -59
  »بود؟ چه مسكوني گسترش مناطق معايب از يكي متن، طبق«ترجمة جمله: 

 .»بود قبلي ريزي برنامه بدون«

  )درك مطلب(

----------------------------------------------  

  )روش عقيل محمدي(  »3«گزينة  -60
 نـام  شـهري  از اي نمونه عنوان به شيكاگو از دوم پاراگراف در نويسنده«ترجمة جمله: 

  ». ...برد  مي

 »گرفت پيشي جمعيت رشد از زمين ةتوسع كه در آن«

  )درك مطلب(

----------------------------------------------  

  )محمدطاها بابامحمدي(  »4«گزينة  -61
  ... .» جز به ،اشاره شده است» 1«به تمام موارد زير در پاراگراف «مة جمله: ترج

  »نياز به قوانين فوري دولتي براي انتشار كربن«

  )درك مطلب(

----------------------------------------------  

  )محمدطاها بابامحمدي(  »3«گزينة  -62
در پـرداختن   ياز عادات شخص سندهينو يابيارز رياز موارد ز يك كدام«ترجمة جمله: 

  »كند؟ ميكربن را بهتر منعكس  يردپا ةبه مسئل

  »كاربردي در عين حال ناكافي«

  )درك مطلب(

----------------------------------------------  

  )محمدطاها بابامحمدي(  »1«گزينة  -63
  »استفاده شده است؟ »2«پاراگراف در  ريز كياز دو تكن كي كدام«ترجمة جمله: 

  »مثال و بلاغي پرسش«

  )درك مطلب(

----------------------------------------------  

  )محمدطاها بابامحمدي(  »4«گزينة  -64
را  ري ـاز سـؤالات ز  يـك  كـدام به  دادن پاسخ يبرا ياطلاعات كافمتن «ترجمة جمله: 

  »دهد؟ ميارائه 

  »3و  1[سؤالات] «

  )درك مطلب(

----------------------------------------------  

  )محمدطاها بابامحمدي(  »2«گزينة  -65
  »؟ستين حيصح رياز جملات ز كي كدام ،ريز متنبا توجه به «ترجمة جمله: 

كـه باعـث كوچـك جلـوه      گذارد مي جاي بر را اي اثر كربني گسترده فردي اقدامات«
  »شود. مي صنايع كل و بزرگ يها شركت جمعي تأثيرن داد

  )درك مطلب(

 ----------------------------------------------  

  )محمدحسين مرتضوي(  »1«گزينة  -66
زيـر آن   »1«ي) كـه در پـاراگراف   دار شـتن يخو( ”restraint“كلمة «ترجمة جمله: 

، كنتـرل)  اعتـدال ( ”moderation“ترين معنا را به  خط كشيده شده است، نزديك
  »دارد.

  )درك مطلب(

----------------------------------------------  

  )محمدحسين مرتضوي(  »4«گزينة  -67
 كـه ناي ـ  جز به ،ذكر نشده است »1«در پاراگراف  رياز موارد ز كي چيه«ترجمة جمله: 

 »كمك كرده است. ييكايفرهنگ آمر يريگ به شكل يياروپا سميچگونه رمانت

  )درك مطلب(

----------------------------------------------  

  )سين مرتضويمحمدح(  »2«گزينة  -68
  »؟درست است رياز جملات ز كي بر اساس متن، كدام«ترجمة جمله: 

در  يمركـز  ييهـا  تيعنـوان شخص ـ  بـه  يا طور گسـترده  به ليمانند ملو يسندگانينو«
 رياز تصـاو  شـان  كـه بـا اسـتفاده    شوند يشناخته م ييكايآمر سميرمانت تر كيسنت تار
  ».شوند يم زيمتماز سايرين] [اروان انسان  يها يدگيچيكاوش پ يبرا نمادين

  )درك مطلب(

----------------------------------------------  

  )محمدحسين مرتضوي(  »4«گزينة  -69
اسـتنباط  شكل از مـتن   نيبهترتوان به  را مي رياز جملات ز كي كدام«ترجمة جمله: 

  »؟كرد
 كي ـ ياعضـا خـود را   ييكايآمر سميرمانت شمندانيو اند سندگانيدر همان دوره، نو«

 هـا احتمـالاً بازتـاب    . در عـوض، آثـار آن  دانسـتند  ينم ـ افتـه ي جنبش واحد و سازمان
 »بود. يمتنوع يفرد يها و سبك ها دگاهيد

  )درك مطلب(

----------------------------------------------  

  )محمدحسين مرتضوي(  »2«گزينة  -70
 ري ـز ة]، جمل ـ4[ اي ـ] 3[]، 2]، [1[ بـا شده  مشخص تيدر كدام موقع«ترجمة جمله: 

  »در متن دارد؟ شدن درج يجا را برا نيبهتر
 يتـر  گسترده يفرهنگ رييتغ ةدهند نشان ت،يو عدم تبع يشخص نشيبر ب ديتأك نيا«
  »نسبت به اقتدار نهادها بود. ديو ترد يفرد يسمت خودمختار به
]»2«[  

  )درك مطلب(

---------------------------------------------- 
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 )حامد كريمي(  »  3«گزينة  -251
ا ديگـر وسـايل بـراي       بين بـراي بزرگنمـايي اسـت نـه انـدازه      هذر گيـري، امـ

  روند. كار مي گيري زمان، فشار و وزن به اندازه
  )هوش كلامي(

----------------------------------------------  

 )پور خان سپهر حسن(  »  3«گزينة  -252
بورد با ماژيـك.   نويسند و روي وايت گچ ميسياه با  معلوم است كه روي تخته

  دومي نيز جديدتر است. ةدست
  )هوش كلامي( 

----------------------------------------------  

 )حميد اصفهاني(  »  1«گزينة  -253
گويــد مــأمون بــه دو فرزنــدش دســتور داده بــود هــر گــاه معلّــم  مــتن مــي

ند بدونـد و يكـي از دو   خاست تا كفش بپوشد و برود، هر يك از دو فرز برمي
لنگه كفش معلّم را پيش پاي او بگذارنـد تـا او خـم نشـود و راحـت كفـش       

  احترامي است كه جايگاه معلّم دارد.  ةبپوشد. اين نشان
  )هوش كلامي( 

----------------------------------------------  

 )پور خان سپهر حسن(  »  1«گزينة  -254
از ديگري علم بياموزد و سپس ادعـاي  گويد آدمي بايد نخست خود  متن مي

  آموزگاري كند. 
  )هوش كلامي( 

----------------------------------------------  

 )حامد كريمي(  »  3«گزينة  -255
بخشـي بـه حـاكم     طبق متن، نظرات وبر در انكار نقش كاريزما در مشروعيت

درن گويد اين كـه قـوانين و نهادهـاي سياسـي در جوامـع م ـ      نيست، اما مي
  عقلاني مهمتر است.  اند، يعني مشروعيت قانوني  كننده تعيين

  )هوش كلامي( 
----------------------------------------------  

 )حامد كريمي(  »  2«گزينة  -256
جان لاك معتقد بود اگر حكومتي حقوق طبيعي مردم را نقض كنـد، مـردم   

  حقّ اين را دارند كه براي تغيير آن اقدام كنند.
  )وش كلاميه( 

----------------------------------------------  

 )حامد كريمي(  »  3«گزينة  -257
رفتارهايي ممكن اسـت عامـل كـاهش رضـايت عمـومي و بحـران         چه نمونه

مشروعيت يك حكومت باشد؟ فسـاد، ناكارآمـدي، سـركوب و يـا نارضـايتي      
  اند.  اجتماعي. دو پرسش ديگر در متن پاسخ نگرفته

  )ميهوش كلا( 
----------------------------------------------  

 )حامد كريمي(  »  1«گزينة  -258

كافي است به اين نكته توجه كنيم كه حسـن و يعقـوب برادرنـد و فرزنـدان     
عموي يكديگرند. معلوم است كه ما از نسبت بين مـادران ايـن دو    ايشان پسر

 اطلاعي نداريم. 
  )رياضيمنطقي هوش ( 

 ----------------------------------------------  

 )حامد كريمي(   »2«گزينة  -259
پاره اسـت. معلـوم اسـت     پاره است، پس حسن، دايي فرزند مه حسن برادر مه

  پاره است. مهفرزند كه پسرِ حسن، پسر دايي 
پـاره،   پاره است. پس زن حسـن بـراي فرزنـد مـه     زنِ حسن، خواهرِ شوهرِ مه

  پاره هم هست.  مه  ةحسن، پسر عماست. معلوم است كه پسرِ » عمه«
  )رياضيمنطقي هوش ( 

----------------------------------------------  

 )حامد كريمي(  »  4«گزينة  -260

زن عمـوي   پـس حسن، با دخترِ برادرِ زنِ عموي خود ازدواج كرده اسـت.  پسر 
 ـ  پسر  ه است. پس زنِ عمـوي حسـن، عمپسـر  زن  ةحسن، براي آن دختر، عم

  ت. حسن اس
  )رياضيمنطقي هوش (

----------------------------------------------  

 )اصفهانيحميد (  »  1«گزينة  -261

كنيم. امين كوچكترين فرزند است. اميـر بزرگتـرين    ابتدا جدول را كامل مي
فرزند نيست. اصغر نيز بزرگترين فرزند نيست. پـس بزرگتـرين فرزنـد اكبـر     
است. او كمربند دارد. فقط يك نفر از آن كه كراوات دارد بزرگتر است، پـس  

مير هفده سال آن كه كراوات دارد بيست سال دارد. امير كراوات ندارد. پس ا
  دارد و اصغر بيست سال.

 14 17 20 22 سن

 امين امير اصغر اكبر نام

     رنگ پيراهن

   كراوات كمربند لباس ديگر

آن كه پاپيون دارد، پيراهنش آبي است و كوچكترين فرزنـد نيسـت. يعنـي     
امين نيست، پس امير است. آن كه نه كمربند دارد، نه كراوات و نه پـاپيون،  

  امين، قرمز پوشيده است. رنگ پيراهن اكبر و اصغر هم معلوم نيست. يعني
 14 17 20 22 سن

 امين امير اصغر اكبر نام

 قرمز آبي معلوم نيست معلوم نيست رنگ پيراهن

 ندارد پاپيون كراوات كمربند لباس ديگر

  كراوات زده است. اصغرطبق جدول، 
  )رياضيمنطقي هوش ( 

 ----------------------------------------------  

  استعدادتحليلي
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 )اصفهانيحميد (  »  3«گزينة  -262

  طبق جدول پاسخ قبلي، آن كه پاپيون زده است، آبي پوشيده است.
  )رياضيمنطقي هوش ( 

----------------------------------------------  

 )اصفهانيحميد (  »  4«گزينة  -263

سـال   22هاي قبلي، آن كه كمربند دارد، اكبـر اسـت كـه     طبق جدول پاسخ
  دارد. 

  )رياضيمنطقي هوش ( 

----------------------------------------------  

 )حميد اصفهاني(  »  2«گزينة  -264

  هاي بالا، معلوم است كه رنگ پيراهن اكبر و اصغر معلوم نيست.  طبق داده
  )رياضيمنطقي هوش ( 

----------------------------------------------  

 )گنجي حميد(  »  2«گزينة  -265

هاي بهار و پاييز سودده بوده  است، ولي ميزان  كارخانه طبق نمودار در فصل

ها طبق نمودار، دقيق قابل مقايسه نيست. حتي اگر تقريبـي   سود در اين ماه

  تري داشته است. رسد فصل پاييز سوددهي بيش هم بگوييم، به نظر مي

  )رياضيمنطقي هوش (

----------------------------------------------  

 )فاطمه راسخ(  »  3«گزينة  -266

ها و مربع اسـت. ايـن    ها در محلّ اشتراك دايره ها در همة شكل يكي از نقطه

  ها جايگاه نسبي مشابهي دارند.  اصلاً نيست. ديگر نقطه» 3«فضا در گزينة 

  )غيركلاميهوش ( 

----------------------------------------------  

 )ه راسخفاطم(  »  2«گزينة  -267

تر از تعداد  ها، دقيقاً يكي بيش هاي شكل بيروني در همة شكل خط تعداد پاره

  ».2«جز گزينة  هاي شكل دروني است، به خط پاره

  )هوش غيركلامي( 

----------------------------------------------  

 )فاطمه راسخ(  »  4«گزينة  -268

دايره  مشتركبخش  رههموا اي هست و دو چندضلعي. ها، دايره در همة شكل

  ».4«جز گزينة  تري دارد، رنگي است به با آن چندضلعي كه تعداد اضلاع كم

  )هوش غيركلامي( 

----------------------------------------------  

 )حميد گنجي(  »  2«گزينة  -269

  تقارن مدنظر:

      
  )هوش غيركلامي( 

----------------------------------------------  

 )فرزاد شيرمحمدلي(  »  4«ينة گز -270

  تقارن مدنظر:

      
  )هوش غيركلامي( 

----------------------------------------------  
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